Determination

of
HCI sample



1- Principle

| HCI

Directly determined, by titration with 0.1 N NaOH

using any indicator ?

End point: Ph.Ph. colorless = Pink (PH range 8-10)
M.O Red —

NaOH + HCI »NaCl + H,O
|—> pH=7

Neutral




2_ PrOCEdure In a conical flask

L.;_ Titrant

% <« (filledin — 0-1 N NaOH

& burette) . .

= End Point: First
I persistent pink
| =

B Record reading of the
;‘; burette

B | Indicator, _, Add 10 drops Ph.Ph.

- +
SHS ___Add 10 ml HCI sample (by bulb pipette)

' 4
J




In a conical flask

> Add 2 drops M.O.

___>Add 10 ml HCI sample (by bulb pipette)

—_———— . | W=



E ImL 0.1 N I \

I.quivalent Factor

Balanced equation 1 NaOH + 1 HCl - NaCl + H,0

Std (left) = Sample(right)
1M !.. m) 1mole=1L IM

1 mole NaOH = 1 mole HCI

1L 1M NaOH = Mwt. HCl N — Equivalent weight
1M _ Mwt. u L
1L 1 NaOH = 1 HCl o M
1L 1N NaOH = M%‘ HCI no.of OH-
Mwt Divide both sides by 10
1L 0.1N NaOH = 1><16 HCl

Divide both sides by 1000
1ml 0. ININaOH = MWt gl 36.5

L — F = oxio00 = 0-00365¢







Determination
of
Acetic acid sample



1 -Principle

» CH;COOH is Weak acid which is directly
titrated against NaOH

weak acid # strong base

» At the end point, the following are present

H,O
CH,COONa

PH is Slightly Alkaline

ph.ph. indicator



2- Procedure

In a conical flask

L Titrant

E <« (filled in __ 0.1 N NaOH

- burette) . .

+ End Point: First
i persistent pink
| &

H Record reading of the
a:; burette

§ | '"dicatOFﬁAdd 10 drops Ph.Ph.

- +
' Sample ﬁ>Add 10 ml Acetic acid sample

(by bulb pipette)

' 4
J

— [ | W=




3- Calculation

1ml standard = 7?7 g sample

Balanced equation

1 mole NaOH = 1 mole CH;COOH
1L 1M NaOH = Mwt. CH;COOH

1M
1L — NaOH = Mwt.CH;COOH

|
Mwt. CH;COOH
1L 1N NaOH =

i |
_ Mwt.CH;COOH
1L 0.1N NaOH = TEZE0
_ Mwt.CH;COOH
1ml 0. 1N NaOH = 1% 10 % 1000

1 NaOH + 1 CH,COOH — CH,COONa + H,0

Std (left) = Sample(right)

1M = 1 mole/1L

N = Equivalent weight/L

Divide both sides by 10

Divide both sides by 1000

60

F= 1%x10x1000

= 0.006g







Thank You

p—



